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PART - A(5x 1 =5)

[Note: Answer ALL questions. All questions carry equal marks.]

1.  What is heat?

2.  What are the renewable sources of energy?
3.  What is refraction?

4.  Write Kirchoff's current Law.

5. What is an integrated circuit(IC)?

PART - B (10 x 2 =20)

[Note: Answer any TEN questions. All questions carry equal marks.]

6. Define convection.

7. State any two postulates of kinetic theory of gases.

8. Define specific heat capacity of a gas at constant volume.

9. What is an isothermal change?

10. State Kelvin statement of second law of thermodynamics.

11. What is Joule - Thompson effect?
12. Define refractive index.

13. Write any two characteristics of LASER.

14. What is active remote sensing?

15. State Ohm'’s law.
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16. Write Faraday’s first law of electrolysis.

17. State the Fleming’s left hand rule.

18. What are the intrinsic semiconductors?

19. What are the universal logic gates?

20. How will you connect the battery for reverse bia

s in PN junction

diodes?

PART - C (5 x 15 =75)

[Note: Answer ALL questions by choosing either A (OR) B.]

21. (a)
(b)
22. (a)
(b)
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(i) Explain the process of conduction, convection and r<:1d|c1t|'<:m.]c
(ii) Derive an expression for the pressure of a gas on the basis o
Kinetic theory of gases.

(Or)

(i) Derive Co-Cy=R (Mayer’s relation) for a perfect gas.
(i) Calculate the value of universal gas constant R from the gas
equation PV=RT.

(i) Describe the Linde process for liquefaction of air.

(i) A certain mass of gas at 1 atm pressure is suddenly
compressed to one fourth of its original volume. Find the
resulting pressure (y = 1.4).

(Or)

(i) Air at 5 atmospheres is compressed to half
volume under isothermal process. Calculate
pressure.

(ii) A certain mass of a gas at 50 atmos
adiabatically expanded to 10 times of jt
the ratio of specific heats is 1.4, cqlc
pressure.

of its original
the resulting

pheric pressure is
S initial volume. If
ulate the resulting
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23. (a)
(b)
24. (a)
(b)
25. 7(c1)
(b)
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(i) Describe an experiment to determine the refractive index of the
material of the prism using angle of minimum deviation
method.

(i) Explain the working of RADAR with block diagram.
~(on

() Explain the components of remote sensing.
(i) List the uses of LASER.

(i) Describe an experiment to determine the electrochemical
equivalent of copper using copper voltameter.

(ii) Derive an expression for the torque experienced t_Jy a
rectangular current carrying coil placed inside a uniform
magnetic field. ‘

(Or)

(i) The resistance of a wire of length 25m and 0.9mm diameter is
0.8 Ohm. Calculate the resistivity of the wire

(i) Calculate the electro chemical equivalent of silver, given that a
current of 1A flowing for 25 minutes through a silver
voltameter deposits 1.74 gram of silver.

(i) Explain how to identify good conductors, semiconductors and
insulators with energy band diagram.

(ii) Explain the forward biasing in a P-N junction diode with a neat
diagram.
(Or)

(i) Explain all the basic logic gates.
(ii) Discuss the advantages of ICs.
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